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Paper First

Income Tax
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Attempt all the five questions. One question from each unit is compulsory.
All questions carry equal marks.

zaé— 1 (Unit-I)

Explain the following terms :- (Any Three)
(1) Casual income

(i)  Deemed Assessee

(iii)  Partly Agriculture income

(iv)  Previous Year
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fndxan ctizen Dr. Sandhya (Government employee) has the following tax2 Rs.
or the previous year 2018-19:
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Country for scvices (Computed)

: 2,50,000
(ii) Agriculture income from agnculture land situated in Pakistan 1,00,000
(iii) Dividebd (Gross) by an Indian Company Payable outside india 40,000
(iv) ~ Income from transfer of a long term capital situated in india

1,00,000

v) Interest earned and received in England from bank deposited there 25000

Compute Gross Total Income od Dr. Sandhya for the assessment year 2019-20
it he 1s o . _
(i)  Resident (ity Non ordinarity resident (iii)  Non Resident

sars— 11 (Unit-I)

. wwmﬁmmﬁaﬁ%wﬁaﬁmaﬁﬁwﬁﬁﬂwﬂ
e A 20000 ® AIND

q?néwaaﬂmso%(ﬂsm’s‘ﬂ&‘fzmso%@mwﬁa%mémwm%‘)
iR e 600 B ARG

e T 270 %, AIRT@ (00 . WA i %)
ITH—T AW BT g

FERS 9l 1200 . ARAS

a%ammﬁméaqmm%mﬁﬁqﬁ%?mﬁméﬁﬁl

201%—19*—%@#3‘[%@%13:{mﬂ%{mﬁﬂﬁaﬁzmzﬂyﬂﬁmﬁwﬁa
= foralt T S PR 1 RpRn g "eH U

orex ¥ far T e sae
11mwﬁ%|wsoo%mﬁmmwﬁw%|ma§ﬁmﬁw
4500%.@%?1%?%&?@3&2029»—29?%%&%?@%3%@@6%%1@

X is an employee of a company He supplies you the following particulars of his income:
Basis Salary 20000 p.m.

DA 50 % of salary (50 % of DA enters into pay for service benefits)
Marriage Allowance Rs. 600 p.m.

Education Allowance Rs. 270 p.m. (Allowance @ Rs. 90p.m. per child)
Bonus one month salary

Entertainment Allowance Rs. 1200 p.m.
He and his employer contributes @ 16 % of salary to R.P.F.

l_)uring 2017-18 he had received 2 month basis salary as advance which was included
in the income gf thc previous year 2017-18 He is provided rent free house owned by
the employer in city (population 11 Lakh) He is also in receipt of medical allowance

of Rs. _300 p.m. Amount spent on medicine Rs. 4500 during the year. Calculate his
salary income for the Assessment year 2019-20
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hck owns & housc at the Kanpur, municipal valuc of which is

fair rent RS. 35,000 per annum. During the previous year the house i: Rs. 30,000 and
his own residence from 1% April 201% to 30™ June 2018 and is let outgsoe(? by him for
13 july 2018 for residential purpose. The house owner incurred the fOlloin p.m. from
during the previous year. . ' ng expenses
Municipal Tax Rs. 4500, Repairs Rs. 6000, Fire Insurance premium Rs. 40
Revenue Rs. 4500 and Ground Rent Rs. 3000. He took a loan of Rs. 40 .00000, Land
interest per annum for the construction is completed on $1% marcl 56 16 NO%;(E)%UZ(;

has been paid sO far . ‘
Compute Taxable income from House property forv the Assessment year 2019-20

g 1M1 (Unit-111)

Mr. Abhis
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3,30,000
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The following is the profit and loss Account of Mr. X for the year ended on 31

march 2019 Compute his taxable from the business for that ycar: s

Rs. :
Opening stock 15,000 Sales %bgg’(?(? 0
Purchases 1,40,000 Closing Stock 0.000
Wages 20000 Gift from Father prem
Rent 46,000 Sale of car 3000
Repairs of Car 3000 Income Tax Refund 330,000
Medical Expenses 3000 o
General Expenses 10,000
Depreciation of Car 4000
profit for the year 89000

3,30,000

c~Awino furthe information are given:
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01-Mr. X carrics on his business from rented premises half of which is used as his

Residence. '
02- Mr. X bought a car during the year for Rs. 20,000 He charged 20% depriciation on

the value .of car the car was sold during the year for Rs. 17000 The use of the car

. 1
was —i— for the business and P for personal purposes.

03- Medical Expenses were incurred during sickness of mr. x for his Treatment.
04- Wages include Rs. 250 per month on account of Mr. X Driver for 10 Months.
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Mahesh has given the following particulars about the sale of assets on 1% march

20169.
Gold Securities Plot
Rs. Rs. Rs.
Selling Price 8,00,000 4,00,000 13,90,000
Index cost of acquisition 3,00,000 2,00,000 6,00,000
Selling expenses 10000 5000 90000

of aforesaid assets. He has invested in

After 15 March 2019 being the transfer .
date of furnishing the return of income

the following assets upto 31% July 2019 being the last
for the assessment year 2019-20:
01- Bonds of National Highways Authority of I
02- Bonds of Rural Electrification corporation Ltd. redeemable after 5
03-Residential House Property Rs. 10,00,000.

ndia redeemable after 5 Years Rs. 3,00,000.
years Rs. 2,40,000.

Calculate the Income taxable for the assessment year 2019-20 under the Head “Capital

gain”

ca— IV (Unit-1V)
4. () URT 80 GGA # frd) e e 8 7 5 3P

Who are eligible for deduction under section 80 GGA?
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Mr. Ram is an advocate He. Furnishes the following income statement for the

previous year 2018-19: Rs.
Income from Profession 2,80,000
Short term capital gain 20000
Long term capital gain 10000
Interest on Securities 15000
Interest on Loan for Higher Education Paid 20000
Medical Insurance Premium own Life (By Cheque) 5000
Housc Rent Paid 60000

Compute his Total Income for the Assessment year 2019-20.
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nd net tax

From the following information compute the taxable income 2

Liability of HUF for the Assessment year 2019-20.

cht.R'cccivcd from House Property G000
Municipal Valuation o
Local Taxes (10%)
Iflcome from Business 2,90’000
i}:ort term capital gain oo
Di)\rji%tcrm capital gain oo
end Received from UT] 10888 0
50 e

Income from lottery (Gross)
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X’ s Income under the head ‘salary’ is computed at Rs. 7,29,500 The contribution n
Recognised Provident fund and public provident fund are Rs. 50000. He has paid Life
Insurance Premium of Rs. 15000 on a Policy Rs. 1,20,000 taken after 1-4-2012 and
purchased shares of eligible issue of capital Rs. 5000 compute the amount of tax to be
deducted at source during the finicial year 2019-20. He has informed to the employer
that there is a loss under tha head * income from House property’ on account of interest
payment in relation to self occupied house Rs. 30,000.

‘mﬁ?ﬂﬁﬁuaﬂﬁuﬁwﬁmaﬁ%?mﬁmﬁwaﬁwq@ﬁﬁﬁﬁqﬁﬁm
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What is meant by the expression ‘Best Judgement Assessment ? Under what
cercumstances can recourse be had to this method of assessment ? Are there any
remidies open the Assesssee against such Assessment ?
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